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-XOLDZDQ� .HOYLQ� �������� 3HUXEDKDQ� 3HQJJXQDDQ� /DKDQ� 6DZDK 0HQMDGL�
/DKDQ� .HODSD� 6DZLW GL� .HFDPDWDQ� 7DQMXQJ�
0XWLDUD��.DEXSHQ�$JDP�

3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN�� ��� XQWXN� PHQJHWDKXL� OXDV� SHUXEDKDQ�
SHQJJXQDDQ� ODKDQ� VDZDK� PHQMDGL� ODKDQ� NHODSD� VDZLW� GL� .HFDPDWDQ� 7DQMXQJ�
0XWLDUD�� ��� XQWXN� PHQJHWDKXL� IDNWRU� \DQJ� SDOLQJ� PHPSHQJDUXKL� SHUXEDKDQ�
SHQJJXQDDQ�ODKDQ�GL�.HFDPDWDQ�7DQMXQJ�0XWLDUD��

-HQLV� SHQHOLWLDQ� LQL� DGDODK� GHVNULSWLI� GHQJDQ� SHQGHNDWDQ� NXDQWLWDWLI�� -HQLV�
GDWD� \DQJ� GLJXQDNDQ� SDGD� SHQHOLWLDQ� LQL� DGDODK� GDWD� SULPHU� GDQ� GDWD� VHNXQGHU��
7HNQLN� DQDOLVLV� \DQJ�GLJXQDNDQ� \DLWX� DQDOLVLV� RYHUOD\� SDGD� DQDO\VW�$UF*LV� �����
GDQ�$QDOLVLV�+LUHDUNL�3URFHVV��$+3��

+DVLO� GDUL� SHQHOLWLDQ� LQL� \DLWX� �� ��� 3HUXEDKDQ� OXDV� ODKDQ� VDZDK� PHQMDGL�
NHODSD�VDZLW�GDODP����WDKXQ�VHODOX�PHQJDODPL�SHQLQJNDWDQ��SDGD�WDKXQ������OXDV�
VDZDK� \DLWX������+D�GDQ� OXDV� VDZLW� \DLWX��������+D�ODOX�SDGD� WDKXQ������ OXDV�
VDZDK�\DLWX�����+D�GDQ�OXDV�VDZLW�\DLWX��������+D��EHUDUWL�WHUMDGL�SHQXUXQDQ�OXDV�
VDZDK�GDQ�SHQDPEDKDQ�OXDV�VDZLW�VHEHVDU�����+D�����IDNWRU�\DQJ�PHPSHQJDUXKL�
SHUXEDKDQ�SHQJJXQDDQ�ODKDQ�WHUEDJL�DWDV�IDNWRU�HNRQRPLV�WHNQLV��GDQ�OLQJNXQJDQ��
GDUL� KDVLO� SHQJRODKDQ� GDWD� IDNWRU� \DQJ� SDOLQJ� PHPSHQJDUXKL� \DLWX� IDNWRU�
HNRQRPLV�GHQJDQ�QLODL��������
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